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1) Which statement is false?

1) Sulfadiazine is a synthetic antibacterial.

2) Some disinfectants can be used antiseptics at
low concentration.

3) Aspirin is analgesic and antipyretic both.

4) Ampicillin is a natural antibiotic.

2) Which one of the following explains light both as
a stream of particles and as wave motion?

1) Interference 2) Diffraction

3) A=h/p 4) Photoelectric effect

3) Which element has the highest electronegativity?
or Which of the following is the most

electronegative?

1) Na 2) Ne

3) He 4 F

4) Statement 1 : Lithium forms Lithium oxide
(LiOy).

Statement 2 : N; molecule have unpaired electrons.

the statement 2 is the correct explanation of th
statement 1.

2) Both statement 1 and statement 2 are tru
statement 2 is not the correct explanation
statement 1.

3) Statement 1 is true but statement 2 is false.

4) The statement 1 and statement 2 bo se.

5) The reagent used for protection of
during the nitration of aniline is

1) acetic anhydride. 2) acetic acid.
3) PCls. 4) SOClz/Pysi

6) A liquid mixture boils withoy
constituent is called
1) zeotropic liquid mixtureig

2) azeotropic liquid mi
3) stable structure comﬁ

group

4) binary liquid mixtu

7) Which of the following Will not give the iodoform
test? § i
1) BenzophenonQ ) Acetophenone
3) Ethanal 4) Ethanol

8) Replacement of Cl of chlorobenzene to give
phenol requires drastic conditions but chlorine of

2, 4-dinitrochlorobenzene is readily replaced
because

1) it denotes e  at meta position.

2) NO, withdraws e~ from ortho/para positions.
3) NO, withdraws e~ from meta position.

4) NO, make ring electron rich at ortho and para.

b

9) Rusting of iron is catalyzé

by which of the

following?
1) H* 2) Z
3) O, 4)

10) In orthorhombic, the value of a, b and c are
respectively 42A.8. and 8.3A. Given the

solute is 155 gmmol™' and
3.3gm/cc, the number of

molecular mass
that of densi

formula units nit cell is

1) 6 2) 4

3)3 4) 2

11) + be converted into Mn7* by reacting
with

1) 2) SO,

3) %E 4) PbO,

The one which has the highest value of pH is
1) Both statement 1 and statement 2 are true and 4}
Q)

ater saturated with Cl,.
NH; .
3) NH; solution in water.
4) distilled water.

13) Identify the correct statement regarding
enzymes.

1) Enzymes are specific biological catalysts that
possess well-defined active sites.

2) Enzymes are specific biological catalysts that
can normally function at very high temperature (T
~ 1000 K).

3) Enzymes are normally heterogeneous catalysts
that are very specific in their action.

4) Enzymes are specific biological catalysts that
cannot be poisoned.

14) Metal generally present in polluted air is
1) Lead

2) Cadmium

3) Mercury

4) Zinc

15) What is the correct relationship between the
pH of isomolar solutions of sodium oxide (pH,),

sodium sulphide (pH;), sodium selenide (pHj;)
and sodium telluride (pH,)

1) pH, > pH; > pH; > pH,

2) pH, <pH, <pH; =pH,

3) pH, <pH; <pH;3 <pH,4

4) pH, > pH, = pH; > pH,







